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60, The value of tan 8 in terms of sin 0 is

tm&r.ﬁ;:uﬂa.fm}:s sinf@ od'
() sin B },igy_'l_-zﬂ'- |
|~ saiB ! o B T
sinfl | - s:in:-ﬂ
(3) - 4 = -~
|- sin-8 (4) zin

61. Distance between the points

A (log, 1000, tan 45%), B (cosec 30°, log,343) is
" AJ13 units (2) 10 units
(3) /34 unilx (#) /5 units

A (log, 1000, tan 45°%), B (cosec 30°, log,343) HooFe 0 QrOGR

(1) 13 divdey 2) 10 e
(3) 434 cordey (4 A5 ooy

62,  Mid values are used to find
{1}y mean P.‘f median

(3) mode (4) range

820 EDNF LD g Iodo SIErAn.

(1) = (2) ;.‘nﬁ_;nﬁnm
(3) eTodssw 4 = U;
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63. Pwobability of impossible event is
(1y O {2y
(3} - 1.00r 05 & 0s
SR0P3 e DBE), Hogrsd =
(ry 0 (2). 1
(3) 108005 4) 05
. == == AD. 3 :
64. INAABC.DE || BC and g =% AC=5.6,then AE =
DB 5
(1) 1.8cm (¥ 35cm
(3) 1.2cm 4y 2.1 cm
. o AD 13 ; )
AABC & DE || BC ﬁﬁmnm =% AC - 5.6 oo AE -
(h 1.8%0.5. (2)  3.520.2.
3) 1220.5. (4) 2.1 Do
65. AABC - APQR. £A =50° then £Q+ ZR =
AABC - APOR, £A =507, 88005 £Q+ LR =
(1) 12 (2) He°
(3) 130° AT go°
66.  Area of regular hexagon of side "a" units 15 £q. units.
‘o’ CRrDEY ghei SoOT Mo SGENE STORDD o,
m' IE!-= X fry 3 3
. (2) "5~ a
n 3 g3 .
(3) > @ - (4) Ljr:u'
MEC/CEC [11] Turn Over
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67. Angle of a sector is 60° and radius is 14 cm, then its area is em?
£¥ BEmoBtSn o8, Ko 60° O TERED 14 50,0, SONS 9 ST
35,230.20.
(1) 1006 21 10267
(3) 1116 (4) 98.66
68. Value of cos? 0° + cos” 60° is
cos® 0° + cos? 60° :ﬂnﬁhﬂm:.’: =
3 2
3 X 5
| 3
(W \.E ( )
69. Ifadice is rolled. then the probability of getting an even number is
£8 DS SLoDIHED S050P; It Hogrii «
I
(1) % 2 3
2
o 3 W 3
70. In a square, the diagonal is times of its side
8.5 SEOOEEDS, Sfsn ord £ oe.
(M, V7 2 3
3 2 oy 2
MEC/CEC [12]
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71.  Ratio of volumes of cylinder and cone whose radii are equal and having same height is

T13.

4.

o rrgiim, difgen SDAS KpSio, ¥ogope WRICIFRIVE D335

l_y'; 1':3 ) 1:2
3) 3:1 (4) 21

b

tan @ is not defined when 0 is

B c‘.i‘;:cﬁb DeniEy tan O 555:] oG,
h o ) 30°
(3) 60° (4y o0°

i g
If!m:ﬁ=1ﬁuml.tﬂnﬁ*ﬁrth¢ﬂ k.- *l:"=

3 i
sec 8 = 3K Bt tan 0 = 7 ©o0S K2 =13 =

K
|
(1y 9 2 3
|
@ 3 4 3

If tan @ = ﬁ! then 7 H'in':lﬂ + 3 Wﬁzﬂ -

1 . 3 2
=== o 7 sin0 + 3 cos~8 =
tan 6 .4:1

16 1
W T @ 3
0
M 3 |_ﬁ"|
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75.  From the 50 cards numbered from | to 50, a card is drawn at random, then the probability
that the number on the card is divisible by 8 is
| Dod 50 36 @ Hadss) 50 Shed Hod dirdyton L s I Hod
T 8 3 Mo griotin Sogg Syt SogS =
1 2
T @ 75
(3) 3—'[, o %
76.  Median of the data 6, 10, 20, x, 12, 14 is 12, then «—
6. 10,20, x, 12, 14 © Sodighesn 12, mond 1 =
(n o6 2 1
(3) 4 ) 14
71. " IFAABC ~ ADEF, BC = 4 cm, EF = 5 ¢m and AABC = 80 em?, then ADEF = emi?.
AABC ~ ADEF, BC = 4 30.2u., EF =5 0.2., 50w AABC = 80 3.%0.5., ooxs
ADEF= . Do.bv,
(Y 64 (2) 125
(3 144 (4) 169
78.  Perimeter of a sector is ___ unils,
28 femposifo Ang e Tod _ cordey.
(1 IE (2) ir%xu:
(3) 21+r) = }4{ I+ 2
MEEH:EC )
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79. In a right circular cone. y{1 # 1) (1~ ) =

M7 slant height (2)

(1) radius of the base (4)

e o Sygs5 YomPS (I +n(-n=
(1 T IE 3
(3) &rIyrgo (4)

. = | . -
80. Volume of a cube is 512 cm”, then.its edge is

(1) 8cm (1)

)ﬂ'{" 14 cm {4)

vertical height

diameter of the base

Ao 84y

gr T e

O cm

|8 cm

(). Booklct ‘
Code D

Y . .. . T - i‘ -t o
2 SR Glovs), MOUSUEPESD 512 3.0 5. e0ni T GO FE

(1) 8o, (2)

(3) 14 Dol 4)

6 20 oD,

18 DO.20.

2 i Thesas *3* §
81. T.5.A of a solid hemisphere whose radius 15 x cm 18 147 mem=. Then “17 15

: at e
" 20.5b. rgdrgione fin 30 OFfivo GE), SOFFBe SO 147 & S.20.4

BEOe "X =
(21
{3) 8 (41

15
]

82. Ifcosec =2 and cot 8 = \Ep where 0" is an acute angle. then p =

cosec B = 2 SoBdin cot B~ '\ﬁp. ‘9’ ot EE!EDE‘F'EJ B0 p=

1y 2 (2)
(3) % o M E
MEC/CEC - [15]
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83. I cos 20 = sin 49, here 26, 40 are acute angles, then the value of *0° =

cos 26 = sin 40, 26 L0 40 @ oP» 5w sans ‘0" Jens =

M 6o e

(3) 45° 4 15°
84.  The mean of first five prime numbers is

Mnﬂ;p@.ﬁ:&nmﬁﬂ ity =

(1) 4 (2) 46 :

(3) 5.6 . W s

i

85. The value nFlnj.:‘Ff:-ﬂl 15

IlingM ﬂ::lﬂb:lm:r -
(n -6 t;f 12
{3y &6 4y 8

86. |r5isn_mnauf.ﬁ (K= 1) x+ 10 =0, then the value of K is
A=K - unln=n5ﬁm§1,:.ﬂ:uru:s.n5mmxcﬁmsbnm:

(1) -8 (2) 7

9{ 8 @ 12

87. Sum of the roots of 32 — 16 =0 js

- 16 = 0 BoY) Sarore Dngsn =

[

(). 3¢ 2 I

3 0 - 4 16
MEC/CEC : [ 18]
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88. IfA=[vixeNand | <x <6}, then nfA) =
A= |x/yeNDOCD | <x< 0] @D DA) =

,pl’r 4] ()

Il:ﬂ 4 {4)

[

]

£89. IfAcB and B< D, then

AcB Sdin B c D msanad

(1) A=B n,zm/.ﬂ.cn

(3 B=D (4) DCA

90. The degree of a quadratic equation is
545 SpEtieain o) S0Sreasn =

(n 1 2y ©

(3) 2 A 3

. o -~ |
91. Logarithmic form of ﬁ =21

38 = 2 Bos) Soiars trSo

www.sakshieducation.com

|

(1) log,2=3 (2) I-.1__:.l,_.!'!—.:1|

i’}’]- log, 8=2 @) log, 2=0
3

92 The discriminant of the equation px= + gr+r=01s

pr+gi+r=0 u‘h:**:‘.zjfr:ﬁ.__ipﬁ =,

(1) g +4pr () g =4p
(3 pr-4gr - " (4) £ -4pq
MEC/CEC 117]
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93. The equation x~™ + v+ 1 =0 has
(1) real equal roots (2) no real mols |
(3) real and unequal roots /.Kf All of the above

dix+1=0 4P yteation aﬁnﬂbw'ﬂ!

(1) = TRD SOPS0 (2) TR Homo T

-

(1) TRTre dbdin GRIFTD (4 Sudh

P =

94. The symbol for an empty set is
o Atpas ol -

W 1) 2 &

(3 ;#1 4y (Nor(2)

95. IfANB= then the sets A, B are
(1), equal sels {2) ﬂllh.‘:l.'l_:.
4y disioinl sets (4) cequivalent setis

A B = @ mond A. B e
(1) Fasrs Rdodbm (2) &5 Hdw

(3) " Daiing S (4) ooy Bl

9p, The zeroes of the polynomial (shown in the graph) are

208 95, rHE Srbis alusd ey

15

s’ 08 WL
$i—am U ]

w

=20 2y 0,-2
y( 2.2 {4y 0,0
MEC/CEC |18]
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97. To find out the slant height of a cone, we'use theorem.
5}( Thalcs (2) S.AS
(3) Pythagoras (4d) SSS
Fomui Desren J&; SHMSGE" Arrodin ASArids.
(1 & (2) e
(3) >grrsh (4 ©0.60.60
08. Values of sin 307, sin %0°, sec 60 are
sin 302, sin 907, sec 60° © Jooded & 50,
( )«1 AP (2) GP
(3) H.P 4y (DNor(3)
99,  Which of the following formulae is associated 1o cylinder ?
B2od a‘ag ‘5'1]',:_":' N2 Bowofiods Mo
(n l;?rr-'h (2) mc'h
2 4
t}{ 3 (4) Frc
100. The linex=-318
(1) parallel o r-axis m parallel to y-axis
(3) passes through origin (4) passes through (0, - 3)
r=-3eb iy
(1) 1-es5Dd Sirodom Gotd
(2) y-w5as 3Sroaton Gotdb
(1) Soro Dodhd DoT Faed
(4) (0, -3)DothY o D
MEC/CEC [19] | Turn Over
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ENGLISH

[For ). No. 1-5] Read the following passage carefully and choose the correct answers
to the questions given afer it

In bringing up children, every parent, regardless of ethnicity, income, education,
or geographic location, watches cagerly the chilil’s acquisition of each new skill.
However, it is often tempting to hurry the child beyond his'natural leaming rate, which
can sct up dangerous feelings of failure and states of wonry in the child. This might
happen at any stage. A baby might be forced to use a toilet too carly, a young child
might be encouraged to leam to read before he knows the meaning of the words he
reads. On the other hand, though, if a child s left alone too much, or without any
lcarning opportumtics, he loses Ins natuml énthusinsm for life and his desire o find ot
new things for himself. Parents vary greatly in their degree of striciness towards their
children. Some may be especially strict in money matters. Others are severed over times
of coming home at night or punctuality for meals. In generul, the controls imposed
represent the needs of the parents and the values of the community as much as the
child’s own benefit. .

According to the passage, in the process of children's leaming new skalls, parents

I."lf must encourage them 1o read before they know the meaning of the words they
e .

(2) should achicve a balance between pushiing them oo hard and leaving them on
their own.

{3) never expect too much of their children.

{4) should join them in schools after 20 years.

It 15 pointed out in the reading that

(1) parents should not give money to children.

(2) all parental restrictions are the same.

(3) parental restrictions vary, and are not always enforced for the benefit of the
children alone

ffl all parents ask ther children to read before they know the meaning of the words
they read.

As we understand from the passage. watching the Child*s acquisition of new skills

(1} 15 umversal among parents.

{2} s not seen in most of the countnes.

{3) is very dangerous to their health,

(4} will make them lose interest in learning new things.

Idemify the true statement from the following :

(1)  The child should be left alone too much.

{ :-"I.fl Parents don’t bother about their children®s leaming

(3) Some parents may be strict in punctuality for meals.

{4) The community has no values.

Choosc the meaning of the word *acquisition”.

(1) watching things (2) playing with toys

(3) eating food 1.!\} learning of a skill, hatut or quality

MEC/CEC - 2]
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101, “Niyamagin is present in

[is Andhra Pradesh (2) West Bengal

(3) Odisha (4 Tamil Nadu

w0 & U'ia_ué‘ N,

(1) o’ ntat] (2) %> Borrd

() &k (4) SIS
102. The Axis Powers was led by 2

(1} Austria 21 laly

(3) Japan (4) Genmany

nesg e’ H TADES0 SarcDNd.
(1) g @ avd
(3) =8>3 (4 =50

103.  First States Reorganisation Commission was set-up in -
& N k] d’:‘
2058 orgre PisisgEse HoID (SREY Byt S $0SE)
(1) 1052 27 ::55;
(3) 1953 (4

104. Amkanyoma s located in

(1) Baluchistan (2) Kashmir
pﬂ" Nepal (4) Myanmar
st SRraP Jife Solb ?

(1) BoDAS @ =45
(3) ‘.3.3:6 @) Sapyd
MEC/CEC |20}
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105. Mining is included in
(1) Infrastructure Scctor {2) Industrial Sector
~3] Terhary Sector {4) Apncullure Sector
Koo 208 TDE" SBIRedhtD.
(1) 5SS Yoo olin (2) SBEDol Soitin
(3) Sybab ot (4) Sgdaran fonte
106. Who was the Chairman of the Drafting Commutiee of the Constitution ”
" (1) 1B. Kripalam _ 2 Rajendra Prasad
(3) 1L Nehru (4) B.R. Ambedkar
orerolf Sndrona® sad PGS
(1) 88,5500 (2) ool S35
3) 2826, dSo (4) B.esb. oG5
107. India fought against Pakistan i 1971 for the hberation of
(1} Poonch Sector (2)  Siachen Sector
p‘jf Azad Kashmir (4) . Bangladesh
1971 & A9 3503 S0 F3TS B 5,5050m 06 SHTcod ?
(1) Frod @rodo (2) hoirds @rodo
() eoz=b '5'%15 (4) uum[ﬁg
108, The Peace Orgamsation prior to UNO was
(1) SAARC (2) ASEAN
(X/ NAM (4" League of Nations
EOrey; SI0GE (UNO) Jrifsiin &) wod Bof
(1) >, (SAARC) (2) ehdbe (ASEAN)
(3) ﬁhﬂt&ﬁﬁ}ﬂ{HAM] (4) Foerd S0 (League of Natons)
MEC/CEC [21] Turn Over
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109, The uraditional Indian Scason ‘Hemanta® is related to these two months
(1) January - February - Sepiember - October
{ November — December (4y March- Apnil

g% erodub ‘rRed0’ sty B Soth Juol v oeyoOonED.

(1) eSnd- 29350 (2) wponth- oy ley

3) SSonth- Anod (4) Sr8y- Hind
110, Mawkdok Dympep Valley is found in

(1), Himachal Pradesh (2) Tripura

’ Sikkim (4) Meghalaya

<pEEE AcdD §'ab AN a8,

(1) rardd ftas ] (2) GRS

(3 !aélp (4) “hiredd
111. The highest peak Eastern Ghals 18

(1) Ansimudi (2 Doda Betta

(3) Gunusikhar (4) Aroya Konda

sty Sined’ I9P 5580

(1) ed5d Q) 566y

s ) (4) eBobFod

112, This would nat Ibe the developmental poal of a girl from 2 rich urban family

@y asmuch frecdom as her hrothers
foreign education
(3

rural life connected with primary sector
(4) decision making about het future

Sera @008 S5 syeporns BodS sxrgons 38 ety OH0 wOR SOES
5.
(1) 39 FoHIE SIS iy

@) ddwed’ 25
(3) Egos Koliod Hownodo o Feines £5%50
() & GO ToDoD Byna DEdSPGSTEo

MEC/CEC - [221
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The water dividing hill¢/mountains between the major peninsular nivers joining the Bay

113
of Bengal and small rivulets joining the Arabian Sca, are
(1) The Aravalhs
The Western Ghats
(3)  The Vindhya and Satpura Mountains
(4) The Nilagins
pomgrIos® $Bh Agstoy Btboth, w3OdIr S3uEes” S DF) Stvot
Deres §oon &y Foden /Do
(1) sosvw (2) S Hode
(3) Dogrg, Snor StEr™ (1) Dehdben
114. The agricultural season of Rabi and Kharif are related to one of the following countries :
(1) Nepal {2) China
{(3) Bhutan l,t)‘f' India
b Basn phS 6 SSairDd Sonofods Sere DS e8 DS Tolbara.
(1) IS ' @ 2
(3) gZirtrs 4) grosd¥o
115. The birth place of Mahanadi 15
(1) Nasik # Mahabaleshwar
(3) Sihawa (4) Amar Kantak
SR8 ey 300
(1) “arnE (2) SfodEb
(3 5= (4) b tok
116. Which of these is not the factor of production ?
(1) Land (2f Transportation
{3) Capital {4) Labour
& 208 TIE “4dd TEEsy" 288 ?
(1) #ird (2) Oover
(3) mqﬁu;he.gaﬁ (4) @#F=
MEC/CEC 23] Turn Over
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/ 117, Chambal, Betwa, Ken, Son nivers belong to this river system
(1) Indus (2) Brahmaputra
(3) Godavari (# Ganges
Sound, Berg, 85, 5 Scheo B 308 D 38 S5t Doheron ?
(1) Hod () Y
(3) Rorsd (4) Hom

118. Which state has a positive sex ratio ?

(1) Punjab (2) Bibhar

W Kerala (4)  Andhra Pradesh

Dor DA othias 6’ &3) Tgo N6 ?

(1) o= 2 56

(3) So¥ (4) wod 338

119. The second biggest city in India

(1), Mumbai {2) Chennai
Delh (4) Kolkata

groad¥od’ Bods edhg Siido

(1) SoozroD (2) o

3 &3 (1) Soimr

120. Literacy rate in Indin, according to 2011 Census
Capll e fees Hsto, g0ddird’ vETRE Ben

(1) 68.04% @ 70.04%
(3)  T4.04% (4) 72.04%
III., The common cause of female migration is

(1) Employment (2) Education

( Free lifc (4) Mamage

it S0 JFErIS fo Bos s0mo

(1) &0 () D

(3) yTncing #d%0 4) O>Fra
y MEC/CEC (241
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122 - The mineral dug in Kudremukh mines is

123,

124.

115.

(1) lron (2) Bauxite

(3) Gold QT Coal

Hidsnd Kbod® oo Ieo

(1) 35 () O3S

(3) wombo (4) Sodm

The following is the standard unit of measuring land is

(W Kilometres (2) Centimetres

{3) Hectares (4) Metres

5t 208 & ¢irtnd Pobirdd 45aAriod @irds Senrso

(1) 28" ey 2) ot Dby :

() TER - @ Do ;

SEZ stands for

{ Spevial Flectricity Zone (2) Special Environmental Zone
1) Socially Economic Zone (4) Special Feonomic Zone

e (SEZ) e

() PSS JoFI &S Q) 2y Do Swobd &

(3) %6 O5sE D (4) DS dESNE &5

Which of the following organizations monitors the liberalized pohicics of intermational
trade ?

wodphan Tl subyys S Mo SERE0HIS

(1) W.HO. (2) LLO.
(3) W.MO. i WT0.
126. The National Institute of Nutrition is situated at
(" Delhi (2) Kolkaa
(3) Hyderabad ; (4) Mumbai
er8dDH FEFTE N0 ANE &R0
(m &d 2) Séser
() Tdowmbd (4) norow
MEC/CEC |25] Turn Over
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127.

(1) & bTed () Soaw g hoisd DNES
() and 3epod e (4) D6, sHHRE ey eISTE
128. The “Antyodaya’ progranume aims 4t
(1) Eradication of unemployment (2) Helping the poorest of the pear
!,yr’ Development of minoritics (4) Upliftment of middle class
‘508 e i (S0 4:.@5;:.
(1) i e @) ©3od hrords SHSRE
@) mtso mhNR (@) osuno egyHhi
129. The Sardas Sarovar dam is constructed on the river
(1) The Knishna (2) The Ganga
L}f The Narmada (4) The Godavan
5B 85 e5g 5 36D dgodesod ?
(1) 578 (2) nokr
(3) =50 (4 Rorsd
130, Indian Government has made National Food Security Act in the year 5
63 BSEhisgo erbad &30 2565 Sego S BoSS O :
(1) 200% (2) 2005
(3) 2012 (47 2013
MECICEC |26]
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“The number of females n tndia has consistently bheen lower than that of men.” One of
the following statement reveals the present position of women in terms of ‘Sex Ratio™s

(1) Infanticide

(3} A hidden fonm of discrimunation apainst womcn
{}‘I" Women in higher positions

(4) Unequal opportunities in ducation and development

wprosEos’ Psien Yol 36T bo omg ST GP" -

& (308 :-aﬁ'zsﬂaunmggﬁmo@cambﬁc&m abah Sgob.

www.sakshieducation.com
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131.  Chipko Movement is related 1o tlis state
(1) Himachal Pradesh B Madhya Pradesh
(3} Kerala (4) Unarakhand
D &ciod Sonoltnd oRo
(1) 2o 30€ 2) S eds
(3) Sov (4) &gopod
132. The formula to calculate the per capita income of the nation is
: Mational Income
() Price Index
¢ WNatiomal Incoine
Population
__ National Income at Constant Prices
(3) Population
Population
4 National Income
SO0 SEraird) SO SrEEtin
erdairordbo erHaroralo
(1) — (2)
Soe Jomos [
20 §oef’ eSarorabo o
(3) 0 (4)
g erddirardbo
133, The book “Silent Spring™ was written by :
() Bahuguna F:‘ Bava Mahaliya
(3) Suman Sahai (4) Rachel Carson
“p80tS rnofi” RS oo
(1) aSvroe (2) T HIOr
(3) o S (4) oTIbsow
MEC/CEC - [27] Turn Over
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134, “Auschwitz’ was @ kind of killing centre, where mass murders were done, was in this

Couniry
(J~ Germany (2) [ltaly
{(3) lran (4) Iraq

sestsstS: S A Seoi St BoO” & Ados® GodD.
(n g-'_iak] {2) ﬁf—"h

(3) RO (4) =°5

135, Who coined the term ‘pPakistan’ 0 1933 7

};ﬁ' A, Jinnah (2} l[ﬁml
{ 3,{ Guhrawardy (4) haudhary Rehmat Ah
(033 & AT e Bre S50 sprobomt ?
(1) DD &7 ’ @) a9°
(3) oErsQ wy wubomSed

136. On 4™ May, 1919, an angr Ademonstration was held in Beipng to protest agaimst the
decisions taken i

(1) The Weimer Republic The British Parliament

(3) The Rowlait Ad The Versailles Peace Conference
1919, 504 & DEoh& S ngasrel SyhtsoT 2 (Se50S B0 8.

(1) Db 6995 (2) Lﬂﬁx&g&:aﬁ

(3)  Tob digs® (#) Styondwod SR

137, The Indian National Congress Was defeated for the first imée in the General Elections of
parliament in the yeat

Fotns BONS FTFTOR 35,58 oS erhdd ot Snstdd LAFRI

m}:ﬁé_‘]ﬁﬂ
(1) 1962 (2) 1967
(3 1977 1998

138. The Presidential Rule can be imposed in the states by this Article

D‘;ﬂ_‘ﬂﬁc oo oD E’.@%ﬂéﬂ}ﬁﬁ QS

(1), 332 (2) 356
.f!’f =360) . (4y 370
MEC/CEC 1281
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139. 73™% Conpstitutional Amendment Act is related 1o :

(4~ Urban areas (2) Women
(3) Rural arcas (4) Minonties
73 3 oregolf H50m S48 Sopoditing soko

(1) S Zroorw (2) Derven
(3) [ribom Proorm (4) __Enxrﬁdm

Which American President announced the policy *The New Deal” 7

{1} Woodrow Wilson L33~ Abraham Lincoln
(3) Franklin Rooscvelt (4) Bill Clinton
Wl B B3RO0 eHOs eithen Jith ?

(1) & doyw : 2) eSo Hosd
(3) @roiSorad (@) O Joss

In 1906, the Muslim League was first formed at this.place

(1) Lahore (2) Islamabad
3¥” Lucknow (4) Dhaka

1906 & Snfo R JntRncts 3HE Donby SdLedss.

() o6 2) aysred
(3) oF @ s

Before the adoption of the Quit India Resolution, the Indian Mational Congress tumed
down the proposal of

(1) Linlithgow (2) Stafford Cripps

{3) Wavell @~ Atlee

345 zodalr doysin wheD FEn 88 eddd oAb 0 FIdSSD
855 Botod.

(1) B58SFK (2) TIDEH
Q) 338 4) o
MEC/CEC g [29] Turn Over
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Sindhu was asked to produce her certificate to prove her genuinity.
Choose the correct expression to fill in the blank.
(1) adhoc (2) sinedie
(3y honafide (4) detour

D)

* A person, who tries to make something less good by enticising’ is known as .

Choose the correct expression to fill in the blank.
(¥ adetractor (3 aculprit
(3) adictum (4) an epitaph

Choose the word that shows négative attnibute.

(1) Smar gf‘ Sociable
{3) Courageous (4) Pessimistic
The plural form of *datum” is

{1} data (2) dates

{}) datums (ﬁ datumes
Asha got her eve on the gold nng.

Choose the meaning of the expression *got I?' eye’.
(1) observed carcfully (Z) dropped tears
(3) opened eyes (4) blinked nicely

This 15 a big suitcase with a leeny-weeny handle.

The expression ‘leeny-weeny” means

(1) wvery big {Z‘i very small
(3) wvory large (4) very smart

March the following and choose the correct matching option
A B

(i) part and parcel ( ) (a) bigleaps

(i1} rough and ready ( y (b) livelihood

(iii) lcaps and bounds {( + ) (c) almost finished

{iv) bread and butter ( ) (d) animcgral part

(h dach (2) b.ecad
{(3) d.hac 4y d.c.ab
139 +It is very important to have good
(1) governmental (2) govemed
(3) govermngly (#- governance
MEC/CEC 131 Turn Over
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143, The Second Five vear Plan shifted emphasis from o e
(1) Infrastructurc 1o Agriculture (2)  Industry to Infrastructure
W Industry 10 Agriculture fw' Agriculture to Indusiry
B0 Sousg Havsd Lﬁ*@ﬁaﬁ&ﬂmud&.ﬂ%m.
(1) esSS wod BBTrdbo (2) SOED Hood eSTHE
(3) SoED Shod BESRraRo (4) SO0 sod SO
j44. The principal aim of UNO is
(1) Establishment of peace (2) Prevention ol pollution
,ﬁl Social development (4) Economic progress
pYoreyy D Doy, S0P; e y
(1) ®od LSS (2) Sendy oD
3 ures o5l (4) ey Pro
14s. Theallowanees paid to the ex-rulers of native states (privy purses) were abolished by
(1) Lal Bahadur Shastri ,(«a']"'ﬂmrji Desa
(1) Indira Gandhi (4) Jawaharlal Meh
spd S0 HB oD PO gtk 5 wes T
n o8 ordrb o] @) oo Pl eas)
(3) =wnobdT ol (4) ptieBord AETT
146. This agreement was made between India and China regarding Non - inerference 10
internal affairs
() Non-alignment (2) panchasheel
s}}"' Commonwealth (4) Principle of non=violence
S, B G 5 wodton 3ol E'50 10800 ORS B0t
(1) ©bsdgrso . @) sosbe
(1) Sedd (4) oo thepodo
MEC/CEC s 30
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147. On the Direction Action Day unprecedented bloodshed ook place as a result of Hindu -

148,

Muslim rols 1
_,[H’.'ﬂ.rlmuh;li {2} - Dhaka
(3) Calcuta (4) Declin

205 airiS & / Y sogste ASSy, Jofr - Jwgoo SoENe Des
SrGrOr ST BOAS T

(1) =SwoToxn ) =
(3) Sofe; (4) &8
Which Government took decision to implement Mandal Commussion recommendation
on Other Backward Classes ?
(1) Natiomal Democratic Alliance : (2) United From
Mﬂnliﬂnﬂl Fromt (4) Umited Progressive Alliance

Yptnds Stnme SOD AdbMhoSedd wolkd 5D Moo ehath
QGO0 (SEDBO

(1) eBa Serare; el (NDA) (2) dHoDEE Foss

(3) I55S Sots (4) o @SrHdo Srelh (UPA)

The State of Jammu and Kashmir has greater autonomy and powers under which Article
of the Indian Constitution

o6 ooorobn O wRstino ol a5y -4 5 ogrdd &Y Sydbo @HO5G
“obdin el oo aohon ?

() 37 2372
(3) 370 4y 373

150,  Which plan became the basis for Indian Independence ?

EC/CEC

(1} Crpps plan (2) Mountbatten plan

~3 Wavell plan {4) August offer

583 ool BORTDR (Sedy

(1) (&) Seeos ) @2) oSl Serdy
(3) 338 SN (4) engesd
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14.  The car collided with a__ i vehicle
Choose the correct wond 1o fill in the blank,
(1) stationery (2) stationary
(%) stationedly (1) station

| IS.  India is a land of myriad languages.
The meaning of *myriad® is

(1) several (2)  scparate
3)  local (4)  common
16. Johnson studies languages. He is :
Choose the best word that completes the sentence above,
2 (1) & cardiologist (M alinguist
(3)  an anthropologisi (4)  an activist

I7.  Kavya is a precocious irl.

The synonym of “precocious” is

{ cheating (2) timid

{3} comfortable (4 inielligent
18. Choose the antonym of *Vindictive'.

(f) forgiving (2)  unvindictive

(3)  invindictive (<) disvindictive
19.  Choose the alliterative expression from the following -

(L)% bang-bang (2) ding-dong

(3)  easy-peasy (4)  hurly-burly
20.  Identify the expression thar expresses the sound of a clock.

(1) tick-tock Z)  pitter-patier

(3) bow-wow (4) haha

1. Anairport is a place 2
Choose the comect relative clause to complete the meaning of the sentence.

(1) why planes land ®  which planes land
(3) who planes land (4)  where planes land
1.  He gave me the leter, which was i ue envelope,
‘which was in a blue envelope’ in the above sentence is
(1} anon-finite clause {2} & finite clauge
(3} a defining relative clause (3¢  a non-defining relative clause
23, Thereis o nml&enmpuflu! 1
What is wrong with the pipes ?
Choosc the correct expression to complete the sentence meaningfully.
(1} not enough water (2)  not water enough
(3)  water enough ($# cnough water
MEC/CEC 4]
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Choose the sentence which needs an article.
(1) . She is suffering from fever. #¥  He plays cricket.
(3}  Tam the greatest persom on earth.  (4)  He is friend of mine.

Iin gase of fire, ing the alarm bell.
The meaning of ‘in case of” is

in the event of {2) together with
(}) bhecause of {4) separate from

It"s quite time Murthy came home.
This sentence says that

(¥ Mourthy is at home, (2} Murthy never comes home.
(3) Munhy is already a little late., (4) Murthy did pot come yesterday.
If you, | would not buy il
Choose the correct verb to complcte the sentence.
Y‘. am (2) willbe
3) were (4) was

She started living in Ongole 10 years ago and she is still living in Ongole. She still
continues 1o live in Ongole.

The meamng of the above sentences can be understood as -

(1) She has been living in Ongole for 10 years.

#2)  She is living in Ongole for 10 years.

(3) She had lived i Ongole.

(#)  She will live in Ongole for 10 years.

She has already scen him.
The above senténce is in
(1) the simple past tense (2) the past perfect tense
(3)  the present perfect tense (# the simple future tense
. He preferred less luggage as the roads were not good.
The part of the sentence, ‘as the roads were not good” is
{1) anoun clouse T arelative clause
(3)  an adverbaal clause (4) anadjective clouse
31. 1 bebeve God. )
Choose the correct preposition to fill in the blank.
(H over (2) at
(3) on " (4 in
MEC/CEC H Turn Over
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32.  Choose the sentence with a non-finite clause.
(1) With the tree grown tall, we get more shade.,
(2)  The tree grows tall and give more shade,
(3 As the tree grows. it will give more shade.
(4)  We get more shade because the Iree grows.
33.  Smitha said, “Gopi, where are you
The indirect speech of this sentence is
(1)  Smitha requested Gopi where are you ?
(2 Smitha asked Gopr where he was.
(3)  Smitha told Gopi that he was somewhere,
(4)  Gupi asked Smitha that she was there.
34.  Choose the grammatically correct sentence regarding the use of *can’,
(1} He can sing songs. (¥  He can sang songs.
{3} Hecan singing songs, (4)  He can sung songs,
35, Choose the sentence in passive voice,
(1) Emergency was declared.
(Z)  I'bought a broken chair.
(#7  She was cutting the tree with 1 knife.
(4)  She had been il
36. Choose the correct spelling of the word.
(1) agnostic (2} agnastic
{ tl‘r aganostic (4) agnostick
37.  Choose the wrongly spelt word
(1) erestwhile (2) gencrosity
(3) specific [}f dustere
38.  Choose the correct sentence with reganils to the end punctuation mark.
(1) Don’t you think that’s rather hypocritical !
Don’t you think that's rather hypocritical .
(3)  Don’t you think that's rather h ypocritical ?
(4)  Don’t you think that's rather hypocnitical ;
39, Choose the sentence with correct capitalisation.
She is the first african woman to win the Nobel prize.
(2)  She is the first African woman to win the Nobel Prize,
(3)  She is the first African woman to win the nobel prize,
(40 She is the First African woman to win the Nobel Prize,
MEC/CEC - |6]

www.sakshieducation.com




(). Booklei
Code
40.  Choose the interrogative sentence that is grammatically correct.
(1) How long the queuc s ? ) What a long queue this 157
{3) Isthis a long queue ? (1) This is a long queue ?
41.  The following is a personal writing.
¥ Writing a diary (2) Writing a resume
(3) Writing a complaint (4) Wnting » pews repori
4.  Writing a letter ordening a book 1s
(1) apersonal writing (?) an informal wnting
(3) abhusiness writing 44 an official writing
43.  The following is enacted in a limited time with a few characters :
(1) A drama {2) A series of plays
A play {4) A one-act piay
44. Choose the phrase that we use whle mving an example.
(1 Though ....... h {2) Accordingto.......
(3) Firstly....... (4) For instance
45.  The following is not the language characteristic of an informal letter :
(1) using abbreviated forms (7} using colloquial language
F  ommibing pronouns (4) using formal language
46.  Choose the phrase that we usually use while clarifying something.
(1} For this recason (3¥ Pcople beheved that
(3} Nevertheless {4) In other words
47.  Choose the expression thal can be used to express a reason.
(= Owinglo ...... {2) Tostartwith.......
(3) Forexample ....... (4) Inother words . ...
48. | will celebrate my birthday ?
The languaee function expressed in this sentence 1s
rH"r'- an invitalion (2) an obligation
(1) an intention {(4) an offer
49. | coan't walk fast.
This sentence expresses the
(1) ablity of the speaker ,{'!r' inability of the speaker
(3) gnefof people (4) suggestion of the speaker
50, May God bless you !
This sentence expresses
{1) apermission a wish
(3) acompulsion {4) an inference
MEC/CEC |7] Turn Over
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PART -1
MATHEMATICS
Sl.  The point (-5, - 8) lies in Quadrant
(-5, - 8) Docip FS50é" Sothih.
(y 1 )
(3 m 4 1w
S1. Ifa b, carcinG.P,thenb =
a, h.cmG.Fé':bﬁJEr'b=
(1 - ac N - < ‘
h 2
a+b+c -
() 4) +ac
53.  The next term of the AP (a 3d.a+d),(a=d)....Is
(@+3d).(a+d),(@-d). ... o3 AP & Sorces 505350
(1) a+2d a-2d
(3) a-4d .N] a-3d
54.  The number of cubes of edge 2 cm which can be cut out from a cube of edge 6 em js
6 2o.5p. mﬂmm:&umzmh} SO I SdsSvesn B
2y
(1) © (2) I8
(3) 27 G 3
35, Which term of the AP - I8, ~ 16,~ 14, .... is first positive term ?
“IR 16, - 14, .. 60 AP & 355 5850 2002588 555 S8 2
() 4 @) t,
R 1, ),
MEC/CEC 18]
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A solid iron cuboid of dimensions 49 em %'33 ‘cm x 24 cm is melted to form a sohd
sphere, then its radius 15

(1) 2lom (2) l3cm
(7] 24cm (4) I18cm

L -4
19 30,5, X 33 2050, x 24 o . Toder SOAS a8 &5 Bg s SBRSD Avor

:ﬁrﬂann'ﬂ:rﬂ.ﬂ-g:'m
(1) 21 %20.20 (2) 13%0.2b
3) Who.d @ 1870

The solution of the equations '\,rlr - \FF} = U and wji_ir + -\ﬁy =0is
ﬂq‘i,&'—‘\ﬁy=ﬂmlﬂ{ﬁﬂﬁt+ﬁy ={) aﬁxsbéﬁ.‘&

(1) x=3,y=7 {2) x=8,y=3
Ay x=0y=I pﬂ x=0,y=0

If 16, x. ¥ are in G.P. then x =
16,x, 36 GP & ﬁ}:-;,s'.r'::rn:-;‘:

(1) 24 : 2 26

of 28 (4) 30

- T ¢
If y = 3, then the value of ‘x' satisfying the equation _ + vy fris
o Y 4583 ' Ded
y=3 mond T+ =6 A x

1
(1 3 {21’ 3

1
A =3 . 4 1

MEC/CEC 19] Turn Over
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